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Think together

Q) onkis 3 metes o, Aot cuts o apece thtis 50 cm v,

i

How much is left?

Oen-s0em=Tem

@) o' icture s 1 m 10 cmlong, Sh trims 35 c pec o the e

= | b

I I AR~ S S hy

How long is the picture now?

wsJem.

%2

€ e hos o piece of string that i 8 cm 5 mim long. He cuts some off so
that now the string is 65 mm long. How much has he cut off?

.

‘There are 10 metres of ribbon on a reel. Danny.
cuts off | m 50 cm and Bella cuts off 77 cm.

How much ribbon s left on the reel?

Suggest different ways of finding the answer.

You could change all of the.
engths to centimetres .. or
there might be a better way!
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Think together

Q) ik out e ength of o you would ned o mokeecchof
tneseshopes.

-3 «2 3 +2

o 1 2 3 4 5 & 7 8 a W0

The e rectngtewould reed (D em f ot

Thecronge plygon o need (T em o woot

146

© e prmeters o thseshapes.

You will need to measure some of the sides.

 Ivill need to convertsome | If some of the sides are the
same length. do 1 stil need

. of these measurements.

\ 0 measure all of them?
DY « U o the
3em
—
@
—

©) Lo s makingshaps ot s
He sys that i shape hasa perimetrof  am

Draw one possible shape that Leo might have made.

Ithink I can draw more than one
ape that hos a perimeterof e cm.
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* Lam going to work out

the length of wool used
by measuring the length

of each of the sides.

Measuring the perimeter @)

gan

We call the distance
around the sides of o
shape the perimeter
of the shape.

@ a

length of each side.

“The diagonal side of the triangle is
5 cm long.

The other two sides of the triangle
measure 4 cm ond 3 cm.

45 +4 +3

0 1 23 4 5 6 7 840 I 2B

Sem+dcms3em=12cm

Alex has used I2 cm of wool to make the red triangle.

b) First use @ ruler to measure each side of the blue polygon.

The sides are 3cm +2m + 2 cm + | cm + 1 cm + 1 cm = 10 cm,

Alex used 10 cm of wool to

Q) o Aesis making hopes out of wool sk on her cor. ke he bue polygon.
How much wool has Alex used to make the red triangle? 12em> 10 cm
b) Hos Alex used more or less wool to make the blue polygon Alex used less wool to moke the
than the red triangle? blue polygon than the red triangle
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Measuring the perimeter @
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Discover

. Playground

7m

Q) o e school s putting a new fnce round the playground.
How uch fence doe theschaot ned tobuy?
) Amei runstwics cround the outsidsof the playgroun,

How many metres does she run?

148

G

There must be away to

work out the perimeter
. without measuring.

@) To work out how much fence is needed,
first work out the perimeter.

I remember! If T odd the sides together T will
find the perimeter. The ployground hos side
lengths of § m. 5 m. 7 m, 3m, 2 m and 2 m.

a e

o sm 10m 17m 20m22m 2 m

SmeSme7me3me2me2m=26m

Lwonder if there is o quicker way
to add these numbers up.

‘The perimeter of the playground is 24 metres.
The school will need to buy 24 metres of fence.

b) Amelia runs around the perimeter of the playgraund tuice.
1o

22 +2

{

Amelia runs 48 metres.

wa
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Think together @ Recno mokes this shope out o stcks
Whtis s perimeter?

I3

Q) 1ot the peimeterof heschok'sodvenureploy rea? The primete of Reena's shopets (Jem S
The dventureploy orea hs four sides 2m
ot orecath 2 mlons PRl 7z
2me2me2me2me(] o

. .

H 5
Y =Y 2 Y=
T e © oot rourean o s sasardopminer |

The perimeter of the odventure play area is (] metres. Lexi has meosured one side of the nature area. It s 6 m long.
Zac has measured another side of the nature area. Its 4 m long,

What could the other side lengths be?

Iwill stort by working out how Twonder f the noture
many metres the other two Plemipidlviniivi
| sdes added together must be. &l

Children run around the perimeter of the school playing field
three times.

How many metres do they run?

«— om

T tm
fetom
+
5m im
\L =
H
P — @

The peimeer fthe lying eldis [ meves The e side et ot bo(J mona (.

The children run ] metres.
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Problem solving - length @

7 ( Tused repeated
[ — T =

(o T [ %] e0e70-20
The ports are equal so.
1 used multplication.

Tknow that 7 x3=21

so Lworked out
70x3=200.

210 cmis 2 m and 10 cm. This i longer than 2 m.

It could grow upto 3
times longer by the
time itis an odutt

Ithink my snoke
could grow longer
then 2 metres.

70emx3=200em

The adult snake could.
growto 210 cm.

Andy is correct.

b) 1m 45 cmis equal to 145 cm.

-

( 5 7
Q) o 1 Ay comect? Couid i snoke grow longer than 2 m?
b) Six months lter the snoke s | m 45 cm long. 205265
How much longer could it grow? The snake could grow another 65 cm.

152 153
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Think together
 Luillwork out the m
nd the cm seporcialy.

This wild snake is | m 50 cm long. N
It con grow up to 4 times os long.

How long could it grow?

Imsocm | ImSocm | ImS0em | Imsocm

The soke o rom to (] mart [T o

€ 120 0 o pet s thtis 8 cn2 e, k' s i o
Lo o8 s pet s How o Mo ml?

BIBA G

woxssnatis () mand (T v

154

©) e budic s ot the height of the porrot
Howtalis the budgie? \

hebudgies[Jemand (D .

L could work out hof i the
porotws 4 cm or 6 .

Iwill draw o bor model and
think about cm and mm.





image9.png
Problem solving - length @

Q) v much siving bord shoud st o il th gop?
b How many more cupboards coid e i no th gop?

) Eoch cupboard is 80 cr wide. Iknow that 4 m 20 cm

ey
—TTE— ek

into centimetres for
(Bom[soemJaoem [ 7eom ]| i scbtracton

3 80 = 240. The cupboards take up 240 . \

A\

20 300em 400 em 420 em

240 + 180 = 420 or 420 - 240 = 180
Toshi needs to cut 180 cm of skirting boord to fillthe gap.

b) The gap is 180 cm.
s0cm

2x80= 160

B0cm

3x80=240

Toshi could fit 2 more cupboards into the gap.

157




image10.png
Think together ) 7en builds two windows. One s twice the width

of the other.
@ Holy hos 8 mof wood.
How much will she have left over after making the book shelves?

I think the bigger window will have double
the perimeter of the smaller window.

EalmBalmEalnsa)

Do you agree with Jen?

Disus Jn' predicion on then el 0 check
oty it have (ot wood e over

Twill draw bar models for
each calculation. Then I can

compare the perimeters
| comp pe

(© somic wonts owotpape borter
it oo ot

The door is 250 cm high.

How much wollpaper will she
need for the top and both sides
of the door?

250 em

Whot do you notice?

159
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Subtracting lengths

Discover

(@ vty i moking  uinea pig run. she s going o cut o pece
oo 1 ong rom & board that .2 m 58 lon

) Wht length of board wil be left after Holly hos cut off
the I m piece?

b) Will there be enough left to cut another | m piece?
Explain your answer.

10

are

“The boord is 2 m and 50 cm.
Holly could mark the boord
with two parts that are

cach I m long. and one part
that s 50 cm long. When
Holly has cut off | m. she
will have a | m 50 cm length
of board left,

o

m Im 50

Iknow another woy to do.

t.2m 50 cmis the same

05 250 cm. A 100 e piece.

is being cut off,so T will

do a subtraction: L
4

250 - 100 = 150 cm,

b)

N
Thereis 150 cm left.
That is enough to cut
another | m piece.

im I m50.cm =150 cm
b
2 ‘There may also be times when it

is best to use column subtraction.

@
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